

# A NOTE ON THE $q$ -LUCAS THEOREM

XIANG GAO

**ABSTRACT.** In this note we present an application of  $q$ -Lucas theorem, from which the  $q$ -binomial rational root theorem obtained by K. R. Slavin can be deduced as a special case.

## 1. INTRODUCTION

The  $q$ -binomial coefficient is defined by

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \begin{cases} \prod_{j=1}^k \frac{1-q^{n-j+1}}{1-q^j}, & 0 \leq k \leq n \\ 0, & \text{otherwise} \end{cases} \quad (1)$$

In [1], the following  $q$ -Lucas theorem was proved and used to derive other new product theorems.

**Theorem 1** ( $q$ -Lucas). *Let  $n, k, d$  be positive integers, and write  $n = ad + b$  and  $k = rd + s$ , where  $0 \leq b, s \leq d - 1$ , Let  $\omega$  be a primitive  $d$ -th root of unity. Then*

$$\begin{bmatrix} n \\ k \end{bmatrix}_\omega = \begin{pmatrix} a \\ r \end{pmatrix} \begin{bmatrix} b \\ s \end{bmatrix}_\omega \quad (2)$$

In this note we will use the  $q$ -Lucas theorem to prove an interesting theorem and from which the  $q$ -binomial rational root theorem can be deduced as a special case.

## 2. THE MAIN RESULT

In this section, we will prove the following interesting theorem by using the  $q$ -Lucas theorem.

**Theorem 2.** *Let  $n, k, d$  be positive integers,  $n > 0$  and  $0 \leq k \leq n$ . Then*

$$\begin{bmatrix} n \\ k \end{bmatrix}_{e^{\pm 2i\pi m/n}} = \begin{cases} \begin{pmatrix} (m, n) \\ (m, n)k \\ n \end{pmatrix}, & n | km \\ 0, & \text{otherwise} \end{cases} \quad (3)$$

---

Date: March 29, 2012.

2000 Mathematics Subject Classification. 05A30, 05A15.

Key words and phrases.  $q$ -Lucas theorem,  $q$ -binomial rational root theorem,  $q$ -binomial coefficient.

$$\begin{bmatrix} n \\ k \end{bmatrix}_{e^{\pm 2i\pi m/k}} = \begin{cases} \begin{pmatrix} \frac{(m,k)n}{k} \\ (m,k) \end{pmatrix}, & k | mn \\ 0, & \text{otherwise} \end{cases} \quad (4)$$

$$\begin{bmatrix} n \\ k \end{bmatrix}_{e^{\pm 2i\pi m/(n,k)}} = \begin{cases} \begin{pmatrix} \frac{n}{(n,k)} \\ \frac{k}{(n,k)} \end{pmatrix}, & (m, n, k) = 1 \\ \begin{pmatrix} \frac{n(m,n,k)}{(n,k)} \\ \frac{k(m,n,k)}{(n,k)} \end{pmatrix}, & \text{otherwise} \end{cases} \quad (5)$$

where  $i^2 = -1$  and  $(a, b)$  denotes the greatest common divisor of  $a$  and  $b$ .

*Remark 1.* Note that (3) is the  $q$ -binomial rational root theorem already proved by Slavin in [2] and Ying-Jie Lin in [3].

*Proof.* Our proof of result (3) is only repeated from [3] and the proofs of results (4) and (5) follow a similar approach.

Let  $\omega_1 = e^{\pm 2i\pi m/n}$ . Suppose that  $\omega_1$  is a primitive  $d$ -th root of unity. Then  $d = \frac{n}{(m,n)}$ . By the  $q$ -Lucas theorem, we have

$$\begin{bmatrix} n \\ k \end{bmatrix}_{\omega} = \binom{\frac{n}{d}}{r} \begin{bmatrix} 0 \\ s \end{bmatrix}_{\omega} \quad (6)$$

where  $k = rd + s$  and  $0 \leq s \leq d - 1$ .

If  $n | km$ , then  $n | k(m, n)$  and  $d = \frac{n}{(m,n)} | k$ , so  $r = \frac{k}{d} = \frac{(m,n)k}{n}$ ,  $s = 0$ . Otherwise,  $d \nmid k$  and  $s > 0$ . Since

$$\begin{bmatrix} 0 \\ s \end{bmatrix}_{\omega} = \begin{cases} 1, & s = 0 \\ 0, & s > 0 \end{cases}$$

this completes the proof of (3).

To prove (4), we consider  $\omega_2 = e^{\pm 2i\pi m/k}$ , which is a primitive  $d$ -th root of unity. Then one can get  $d = \frac{k}{(m,k)}$ . By the  $q$ -Lucas theorem, we have

$$\begin{bmatrix} n \\ k \end{bmatrix}_{\omega} = \binom{a}{\frac{k}{d}} \begin{bmatrix} b \\ 0 \end{bmatrix}_{\omega} \quad (7)$$

where  $n = ad + b$  and  $0 \leq b \leq d - 1$ .

If  $k | mn$ , then  $k | (m, k)n$  and  $d = \frac{k}{(m,k)} | n$ , so  $a = \frac{n}{d} = \frac{(m,k)n}{k}$ ,  $b = 0$ . Otherwise,  $d \nmid n$  and  $b > 0$ . Since

$$\begin{bmatrix} b \\ 0 \end{bmatrix}_{\omega} = \begin{cases} 1, & b = 0 \\ 0, & b > 0 \end{cases}$$

this completes the proof of (4).

To prove (5), we consider  $\omega_3 = e^{\pm 2i\pi m/(n,k)}$ , which is a primitive  $d$ -th root of unity. Then one gets

$$d = \frac{(n,k)}{(m,n,k)} \quad (8)$$

By the  $q$ -Lucas theorem, we have

$$\begin{bmatrix} n \\ k \end{bmatrix}_\omega = \left( \frac{n}{k} \right) \begin{bmatrix} 0 \\ 0 \end{bmatrix}_\omega \quad (9)$$

Since

$$\begin{bmatrix} 0 \\ 0 \end{bmatrix}_\omega = 1$$

together with (8), we completes the proof of (5). □

### 3. ACKNOWLEDGMENT

I would especially like to express my appreciation to my advisor professor Yu Zheng for longtime encouragement and meaningful discussions. I would also like to thank the referee for meaningful suggestions that led to improvement of the article.

### REFERENCES

- [1] G. Olive, Generalized powers, Amer. Math. Monthly 72 (1965), 619 - 627.
- [2] K. R. Slavin,  $q$ -binomials and the greatest common divisor, Integers 8 (2008), A05.
- [3] Ying-Jie Lin, A Note on the  $q$ -Binomial Rational Root Theorem, Integers 9 (2009), A12.

1. SCHOOL OF MATHEMATICAL SCIENCES, OCEAN UNIVERSITY OF CHINA, LANE 238, SONGLING ROAD, LAOSHAN DISTRICT, QINGDAO CITY, SHANDONG PROVINCE, 266100, PEOPLE'S REPUBLIC OF CHINA.

2. DEPARTMENT OF MATHEMATICS, EAST CHINA NORMAL UNIVERSITY, LANE 500, DONGCHUAN ROAD, SHANGHAI CITY, 200241, PEOPLE'S REPUBLIC OF CHINA.

*E-mail address:* gaoxiang821221@163.com